Golar Systems and Space |
Task Cards

Parts of the Solar System

are large Chuhks of ice and dust that
orbit around the sun. They streak towards the sun
from the Qort Cloud ahd then baCk out into outer
Space. Some Orbit the suh mahy times, while others
Ohly make onhe trip before diSappearing Or burhing up.
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Comets
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Parts of the Solar System

Found between Mars and Jupiter, the
contains pbodies of
rOCK ahd metal that orbit around the sun.
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Asteroid Belt

Answer:
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Parts of the Solar System

plahet £its the followihg CharacCteristics:

*

JJtiSin orbit ground the Sun
JJtiS large enough to Keep a rounhd shape
]t has not Cleared the heighborhood around its orbit
]t iS NOt g Satellite (@ moon)

L n op v A, Dwarf
Answer:
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Parts of the Solar System

A) planet is considered a
“roCKy” planet. They have few to ho moons
and are relatively Close to the sun.
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Answer:
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Parts of the Solar System

planets are considered “gas
gignts” beCause of their |arge size. They
typiCally have multiple satellites and have
ring systems.
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L~ v~ Outer
Answer:
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Parts of the Solar System

A iS @ celestial body that makes an
Orbit around a planet, inCluding the eight ma)or
planets and dwarf plahets. May also be referred to as
a hatural satellite.
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Moon

Answer:
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Ihher Planhets Vs. Quter Plahets

Why are the last ¢ planets (Jupiter, Saturn, (Jrahus,
and Neptune) considered gas giahts?

Composed mostly of

Ahswer:
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Ihher Planhets Vs. Quter Plahets

Which set of plahets has more moons? The innher
plahets Or the outer plahets?

Outer planets

Answer:
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Ihher Planhets Vs. Quter Plahets

Why are the first four plahets (Mercury, Venus,
Earth, Mars) considered to be terrestrial Or “rocky”
planets?

AnNSwer: Made of metals and
rocks, so they have a
hard surface. !
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Ihher Planhets Vs. Quter Plahets

Which plahets take |ohger to Orbit the suh, inher or
outer?
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Outer Planets

Answer:
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Ihher Planhets Vs. Quter Plahets

Name two CharacteristiCs that are different about
ihher plahets ahd outer plahets.
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Inner planets are
smaller and rocky.
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Ihher Planhets Vs. Quter Plahets

Name two CharaCteristiCs that inher planets ahd
outer plahets have in Common.

.. They all orbit around the
Answer: o -7

" Sun.
They all rotate on a axis.
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Rotation Vs. Revolution

Answer the question using efcher ‘rotation”or “revolution.

Day and Night are caused by the Earth’s

LA Rotation
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Rotation Vs. Revolution

Answer the question using efcher ‘rotation”or “revolution.

The Earth goes through difFeréent Seasons because ofF
the Earchs

Revolution

Answer:
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Rotation Vs. Revolution

Answer the question using efcher ‘rotation”or “revolution.

Oh Earth, shadows appéear difFFerently throushout the
day because of the Earths

——-—-————-—-—1

Rotation

Answer:
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Rotation Vs. Revolution

Answer the question using efcher ‘rotation”or “revolution.

From Earth, diFFerent Constellations areé Visible at
diFFerent times because of the EarehHs

Revolution

Answer:
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Rotation Vs. Revolution

Answer the question using efcher ‘rotation”or “revolution.

The time IS takes the Earth to make ohe Complete
around the sup is
APProXimately 365.2¢ days.

Revolution

Answer:
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Rotation Vs. Revolution

Answer the question using efcher ‘rotation”or “revolution.

The time IS takes the Earth to make ohe Complete
Oh TS 3XIS IS approXimately 23.9
hours.

Rotation

Answer:
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Galaxies ahd Objects ih Space

A1 plahets in our sOlar SYStem have mass, rotate oh an
aXIS, and
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Orbit the Sun

Answer:
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Galaxies ahd Objects ih Space

The Suh ahd Earth’s mooh appear to be the same size
/b the SKky, even though we know that the Suns
diameter is about 400 times bigger thah the /Moons.
This is because the /VJoop is to Earth
than the Sub.
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| ~ Closer
T

Answer:
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Galaxies ahd Objects ih Space

STrius, ohe Of the brightest stars Visible From Earth,

emrts 20 times more [Ight thah our Sun. Khowihg this,

why does the Suh Stifl appear to be SO much bigger in
the SKy?
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It Is closer to Earth
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Galaxies ahd Objects ih Space

Earths Solar System is Found /b a £alaxy that
IS hamed the

. . Spiral
Anhswer: M?Iky Way
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Galaxies ahd Objects ih Space

A star hamed Pollux SIVeEs OFF Way more [ight thab the
Star hamed Sirius, but Sirius Stifl appears brighter
when viewed From Earth. This is because Pollux is

From Earth thab Sirius Js.
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Further away

Answer:
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Galaxies ahd Objects ih Space

Now considered to be a DwarF Planet, used
t0 be considered the 9 planet From the Sun.

Anhswer:




